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For each question from 1 to 30, four options are given. One of them is the comect
answet. Make your choice {1. 2, 3 or 4). Shade the comect oval on the Optical Answer

Sheet'(OAS) provided
1 The flow chari below shows how some fiving things are classified.
Living things | Are they able to
*I meake their own }== *
- food?
no
Do they feed on | Y&S 8
decaying matter? ’

no

Which one of the following identifies A, B and C correctly?

A : a c
Q) mouse mushroom toad
2) grass mould frog
@ [ veast foadsiooi Sighomfem
{4 bird’s nest fern grasshopper lizard
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2 The table below shows the clagsification of some insects.
Inasects
X _ Y
has two pairs of does tiot have has two pai ’ ' '
’ P ; *S ot | pairs of has a
wings wings ‘wings ' winp::r of

A [ 2] Cc D

(1 has 3-stage fife cycle has 4-stage fife cycle

{2) fay eggs on land tay eggs in water
{3) has two body parts _ has three body parts
4 cannot fly can fy

.Page 2 of 3] -
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3 The diagrams below show the life cycles of animals X and .

- Animal X _ : ' g AnimalyY

Based on the diagrams above, which of the followmg staternents about

~ animals X and Y is 7 are true?
A Both the aduits do not have wings.
8 Both the young do not live in water.
C Both the adults do not giva birth to their yotung alive.
D Both are pests in at least one stage of their fife cycles.

() Doaly (2) AandBonly
(3} BandConly (4} CandDonly
Page 3 of St
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4

Dossithave” | - | Does ithave o
<hioroplasts? | - chioroplasts? |

Based on the information above, four pupils made the folloWli)g statements:

Alica : CeﬂéDanchanbeanimaloeﬂs-

Bermice ": Celis A, B and E can be plant cells,

Christel _ : Celis A and C are able to photosynthesise,

Daisy : CeHsEandFarenotoellsastheydo nothave a
nucleus.

Which of these pupils made (an) incorrect statement(s)?

{1} Daisy only (2)  Alica and Bemice onty _
3) Alica and Daisy onty {4 ‘Bernice and Christel only
Page 4 of 31
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5

The arrows in each of the following diagrams show the transfer of pollen
grains between 4 pairs of flowers, A, B, C and D.

direction in
which poilen
graing are

transferred

Which pair(s} of flowers would most likely, develop into fruit{s)?

1)
124
3)
4

Aonly

8 only ’
C and D only

A, C and D only
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6 An experiment was set up using four onions, W, X, Y and Z_

At the start of the experiment, one or two different part(s) of the onions was /
were removed.

The different parts of the onion are shown in the diagram below,

part A partB

A cross-section of an onion -

The table below shows the different part(s) of each onion, W, X, Y and Z, that

was { were removed. - '
onion | " pastA partB ' partC
W removed present removed
X removed present : present
Y. present removed - present
Z present removed removed

Which ane of these onions, W, X, Y or Z, would most fikely grow a shoot first?

 w
@ x
3 v
“ z

Page 6 of 51
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7 Sarah placed an equat number of similar seeds in conlainers P and Q.

coniainer P

container Q

After one week, Sarah observed that only the seeds in container Q had
germinated.

Based-on Sam‘h ohsewatmns which one of the: -following: pairs describes
cofrectly “the condrtlons in which the. seeds wese - exposed to im each

container?
contalner P container Q . _
@ « placed under the sun - « placedin a dark cupboard
. + no water given « no water given
@ « placed in a dark room » placed under the sun
« watered daily - watered daily
@) + placed in the freezer e plaoéd in a. dark room
» watered daily = watered daity
@ |- placed in an air-tight container » placed under the sun
« watered daily « no waler given

Page 7 of 51
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Gaseous exchange-takes place in the leaves of plants.

The table below shows the gases, A, B, C and D, involved during the 2

processes carried out by the leaves of plants.

o gas takeﬁ'in by | gas given out -
pro c.e ssl. the leaves - by the leaves
respiration A
photosynthesis C D

Whatare A, B, C and D fikely to be?

~A B C D
(1).-} watervapour _oxygen carbon dioxide | hydrogen
i) _carbon dioxide | . -axygen oxygen - water vapour
3) oxygen carbon dioxide hydrogen carbon dioxide
{4) oxygen carbon dioxide | carbon dioxide oKxygen J

9 The diagram below shows parts of the human digestive system.

Which of these parts, A, B, C, D and E, produce digestive juices?

(1) A BandC only (@) ~ A, CasdE only
) B DandEonk (4 C,DandEonly
Page: 8 of sJ
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10 Tiara put a bel! jar over a woll-watered plant. She covered it with a layer of
black plastic bag and placed it under the sun from 7 am to noon.
The diagram betow shows her experimentat set-up.

biack plastic bag
glass bell fjar

plant

.
!

L LT T R Hraey

Volume of gasfend
\ A

&
g
2
2
&

v

g
g
g
:

“3 | ()

>
»

oxygen axygen

Volume of gas/om?
“Volume of gas/em?
g
5

carbon dioxide

7am

4

Y

g
g
§

3 )
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1t The diagram below shows the flow of
another,

the lower part
of body

lungs

ﬂwlmuerpert
of body

-

blood from one part of the body to

A, B, C, D, E and F represent the blood vessels in the body.

Moneofﬁ\efoﬂowmgldenhﬁesoonecﬂylhetypeofb!oodfoundm these

biood vesseis?
‘blood rich In oxygen blood rich in carbon dioxide
(1) A CandE B, DandF
(2) Aand C B,D,Eand F
(3) A.CandF B,DandE
“) A DandE B,CandF
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12 To conduct an experiment, Susan prepared set-ups A and B using 2 simitar
plants as shown balow.

white
flower

After a few days, she observed that the flowers and somie parts of the leaves
in set-up B had tumed blue while the flowers in set-up A remained white.

Based on Susan's ~observations, what could . she conclude from her ..
experiment? )

(1)  Water Is transported throughout the plant by its xylem tubes.

{2} Food s transported throughout the plant by its phloem tubes.

{3)  Water that is taken In by the roots is transported to other parts of the
plant

(4) Food is produced in the leaves and transpoded to all parts of the
pfant. - :

Page 11 of 51
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13

One of the methods of controlling oil spill in the ocean is to surround the
spilage with a barier. The barrier prevents the oil from spreading to other
parts of the ocean.

/‘ spilt oif
/ bar_rier

sea water

Professor Thamm conducted an experiment using 4 d:ﬁ’erent blocks of the
samevo!ume eachmadeofaditfetentmatenal,A.B CorD. ~

She took 4 identical beakers and filled each of them with an equal amount of
sea waler. Then she placed each block into each beaker, as shown in the
diagrams below.

Which one of these matesials, A, B, C or D, is the most suitable for making
the barrier?

{HA
(2) B
3)cC
() D

Page 12 of 351
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14 A group of students conducted the following experiment {0 find out the effects
of pollutants, X, Y and Z, on a particular type of aquatic plant

=

control set-up  pond water with pond water. with
{pond water)

poliutant X

poliutant ¥

pond water with

poliutant Z

After Swegks, they constructed a graph with the.daté that they had collected. |

50 -

Numberofaquahcplantspresem

145

40

30

25

20

Control

Poﬂf:tantx

Pallutant Y

T

Pollutant Z

& Week 1]

5 Week 2

0 Week 3§

The students made the following statements :

Alia

Beatrice

Caslyn
Daphn

Who made the correct statement{s)?

(1)  Ahaonly
(3}  Beafrice and Caslyn only

Dapho only
ARa, Beatrice and Caslyn only

Page 13 of 5}

: Pollutant X had no observable effect on the plant.

M {’o-ﬁut;ant Y was nat as harmful to the plant as

) p(;tkﬂant Z

: Pollutant Z was hamful to this specles of plant.

: All pollutants tested caused harm to this species of -
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15

16

The diagram below shows parts of organism X found on & small island,

_ Xlspoﬂ!natedbyorgamsmY

One day, organism Z, which feeds on X, mvaded the island.

How wifl the presence of 2 affect X in the next fewyears?

A There will be fewer frults formed.
"B ﬂtepopulaﬁonsizeof)(winnotbeaﬁected.
¢ The population size of X wil increase at a faster rate than
' before. :

(1 Aony @ Conly
(3} Aand'Bonly 4) AandConly

lagram belowshowsafaodwebmvo!vmgaorgamsms A B ,CDE.F,
Gandl‘l
. T ' » G
A‘—‘—'c/ \
/ H

? \E - F
Based on the food web above, John constructed four different food chains.
Which ane of the following food chains that John had formed was comrect?
M E—p
2. A~ D+ E
@B C—»>Gg—s
“) B —+ G—p H—aF

Page. 44 of 351 . '
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17 The diagram below shows a pump fitted to a container which has a capacity
of 200 em®.

pump

container with
capacity of 200 cm®

‘Each time the pump was pushed in completely, 100 cm” of air would enter the
container, i

Based on the information above, which one of the fotiowing graphs répresents
correctly the changes In the volume of air inside the container after the pump
was pushed in completely once? ~

Volume of air fom? Volume of air fem®
Fy & '
160 ;
0 ; i \ 0 ‘1 »
Number of pumps Number of pumps
() : (2)
Volume of air forn® Volume of air fcm®
200r — .
O . 1 —‘r . 1 L4
Number of pumps Number of pumps

@) o )
Page 18 of 51
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18 Chloe prepared the following set-up to collect fresh water from pond water.

plastic -
rock sheet ) rock

plastic
contalner
ground | pond water N Wt E==|  froshwater |
support T T support

'Shaptacedlheset-upmanopeuﬁeﬁonasunnyday.Aﬂerafewhours she
mnagedtoooledsmeﬁeshwaterhthecup.

""Chioa femﬁefma“_wmum‘ofﬁmh water she had collected was too fittle.

Which one ofmefoﬂowlngchanges should Chioa make fo the set-up s0 that
mﬁ&ghmeroouldbecaﬂedadmﬁ:ecup? . S

She should use

N a smaller cup

{2} a smaller pebble

3) a smaller plastic container

{4) sea waler instead of pond water

Page 16 of 51
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19 P.Q, R, S, T and U represent different locations on the Earth.

rays from the Sin

’
Direction of -
rotation of Earth

3 children located at different - parts of the. Earth . made the following

statemnents at the same time ;
Abigail : 1 can see the stars in the night sky.
Beeling : The Sun'is going o fise soon.

Catherine : it is going to be noon soon,

" Based on the information above, which one of the following shows correctly
- where the children are on the Earth?

| Abigan Beeling | Catherine
1) p T U
2 P - R S
(3 Q T s
“) Q R u

Page 17 of 51 '
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20

%ichoneoffoﬂmvingshowéoorr th ' R
place in the production of electric amm,g;?m"y conversions that take

()
(2)
3)
4)

heat energy —> kinetic energy > electrical energy

tenti
polentalencrgy ——> heat energy ——> kinetic energy — > electricat energy

Page 18 of 51
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21 Tha dia i '
By gram below shows the use of shadows in ‘Wayang Kufit *, 3 puppetry

Which of the following statement(s) explain(s) how the shadows are formed
clearly on the screen?

A A transparent cloth is used as.a screen.

B8 - The puppets are made of opaque materials.

C A light source is placed before the screen while the puppets
are behind the screen,

(1) B only

(2}  AandBonty
(3) B and C only
499 A BandC

Page 19 of 351
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22

Peter had two identical beakers, X and Y, each filled with an equal amaunt of
water. He heated the water in the beakers for 20 minutes untif the water
boiled.

The graph below shows the changes in the temperature of the water in both
beakers for the first 9 minutes. '

Which of the following statements is / are true?

1)
(2)
&)
4

>

The water in beaker X was heated with & stronger flame.

B Both beakers of water would reach the same temperature at
.the end of 20 mimites- ,

C Both beakers had water at-room temperature at the start of the

experiment.

A only
8 only
Aand B only

B and C only

Page 20 of 5|
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23 . James set up four circuits, S, T, U and V, using identical batteries and bulbs
as shown in the diagrams below.

o]

crcuit S circuit T
——]
_’I —
clrcuit U clreuit V
. in which oite of the following circuis, S, T, U or V, will the bulb{s) remaln &t for
the longest period of time?
(1) Cicutts (2) CicuitT
(3) Circuity {4} CicuitVv

Page 21 of 51
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24

The circuit below consists of four identical batteries, four identical swilches,
$1. 82, 83 and S84, and threo identical bulbs, 81, B2 and 83.

B1

Which of the fotiowing pairs of switches should be closed such that only ONE
bulb.wilf kght up for each pair of switches?

A: Stands3
B: Stands4
C: S2ands3
D S2and sS4
Er S3ands4

(1} . AandEonly (20 CandDonly
3} A BandDonly _ (4) B,CandEonly

Page 22 of 51 .
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25 The diagram below shows a circuit with three gaps, E, F and G, where

different objects could be connected to.

B1 B2

— e——

FB3 8 |
<
g%y

Wel Lin had three rods, X, Y and Z. She connected the ends of each rod to
each of the gaps at E, F and G respectively. She recorded her observations in
the table below. A tick (¥} in the box indicates that the bulb fit up.

position of rod bulb(s) that lit up
F G B1 B2 B3
Y z R ~

Which one of the following shows the correct observations made of the bulbs
forrods X, Y and Z placed at the various positions? . -

position of rod bulb{s) that lit up
E F G 81 B2 B3 B4
M X z Y T 4 ¥
@l v iz | x X
Gl oz Y X RS J
S BR'G X z X,

Page 23 of 351 ’
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26

The set-up below consists of three rings A, B and C, Two of them are fing
magnels and one is a plastic ring. Ring B “foats” above fng C.

— _—

Based of the komiation above, which of the following statements i3/ are-

mast fikely to be true?
A _RingAis amagnet.
8 Ring B is the plastic ring.
C Untike poles of rings A and B are facing each other.
D Like poles of rings B and C are facing each other.
(1) C only
2) Donly
3) AandBonly
4) AandConly

Page 24 of 5i -
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27  Which one of the diagrams below would require the greatest effort to move

the 5 kg box from point X to Y?

- (1) _ .
Skg ) .3m B
“+ —>
X Y
@ ﬁam :
Skg - - _ ~»!
— ” ”m\, - :

o
X 5 Y

@

4

Key

—p direction in
‘which the
hox moves

Page 25 of 35i
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28 Sam pushed loads of the same mass up to the same height using two
ramps, Q and R, which had the same angle of inclination, X°. He noticed that
he required more effort to push the load up ramp R than Q.

- md
X { 1} x> (==

rampQ ramp R

What possible conclusions coutd Sam make about the two ramps, Q and R

A The surface of ramp R was rougher than ramp Q.

B Thetewaslessﬁicﬁonbetweenmeloadandmesudaceof
famethan!hesutﬁéeqfrmnpR. .

c Thqdisfaneempvedbyﬁieeﬁon up-ramp Q was greater than
ﬂ;edistmwehmedbyﬁieeffonupt:amp&

(8 T'hedﬁamemovedbymeloadupmp_ﬂwasgreaterthan
the distance moved by the foad up ramp Q.

{1 C onty

(2} AandBonly
3) AandCony
(49) BandDonly

Page 26 "of 51
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29 Four identical balls, W, X, Y and Z, were hung from a pole using-strings of
different lengths as shown In the diagram below.

pole

(5 : . : —— string

Eadlsmngwascm 1 cm above each ball. The balls landed in acontalnerof
flour placed dwedly below. Four dents of different depths were created in the
flour by the four balls:

Which one of the fouomng dragmms shows comectly the four dents in the
. ﬂour made by the four bafls respectively?

(1)

2 - w _ X Y. z

3

“)

2008 PG Science Prelim
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30 The diagram below shows two identical iron balls, A and B, moving towards

each other at the same speed.
@ @
— <

' balls collide? )

{0 Balls A and B will move back in opposite directions at the same
2) Batis A and B will move back in opposite directions _at different
{3) Ball' A will move back in the opposite direction while Ball 8 will stop

maving upon hitting Bal A ' -

@, Ball A will stop moving upon hitting Ball B while Ball B will move

back in the opposite direction. )

Page 28 of 351
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Name; ) Index No: Class: P6

SECTION B {40 marks)
For questions 31 to 46, write your answers clearly in the spaces provided.

The number of marks avaitable is shown in brackets [ ] atthe end of each -
question or patt question.

3 The diagram below shows Tim and Kate s family tree for the inherited
characteristic of eye colour.

O John

00 | ee. ¢ | @0
R L 1

Tim " Kate - @ )

: &0 @O e0 . 00 ee e

= female = male é ﬁ = blue eyes

ﬁ O = non-blue eyes

Q= genetic information for non-bliue eyes .
O O = non-blue eyes

= genelic information for blue eyes

@ () — The genetic information for blue eyes remains hidden if it is paired with that
for non-blue eyes.

e@ Only John and June have blue eyes because they have inherited both
‘pieces of genetic information for blue eyes from each of histher own
parents.

Page 29 of 5i 2009 P§ Science Prelim
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Based on the information on page 29, answer the following questions:

(@) How many of Kate's siblings have biue eyes? {1}

{b) Tim and Kate’s son got manied and his wife gave birth to a daughter with
' blue eyes. .

Complete the family tree on page 29 by DRAWING the following: 121
M the twa new members in the family AND
() ' the genetic information for each of the two new family members
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32 Hillary used the following set-up 1o conduct an experiment.

sunlight
- air / fly

. e
o <
v <P
Lo cotton wool Rzard
tube for delivering th water

water and minerals

Based on the: diagram above, answer the following éuestions:

{a) To show that the lizard was dependent bn the plant for its survival,
Hillary placed fiquid X to remove a substance from the air.

State the function of liquid X in Hillary’s set-up. - [1]

By Explain how the lizard was dependeﬁl on the p-iant for its survival. [1]

{c}  After some time, what would Hillary observe about the limewater?
Give a reason for your answer. {1

Page 31 of 51 2009 PS Science Prelim
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33 Trixie conducted an experiment using identical beakers to find out if the

number of leaves on a plant affects the amount of water that i loses to its
surrounding.

25 mi
of oil
.. 300 mlof
300 mi of pond water

tap water

(a  From the information provided above, suggest 2 ways to ensure that a
- fair test was conducted for the experiment. .12

®

(i)

) i Trixie had conducted a fair test as you suggested in (a), Set—up A
would act as a conirol set-up for the experiment.
Suggest why set-up A was required for her experiment. - 1]
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34 Mangrove trees are found in muddy swamps. They have special roots and
other structural adaptations that enable them to survive in the swamp which
most species of plants are uhable to do so.

muddy ground

{a) Other than having plenty of water, suggest ANOTHER advantage that
- the mangrove trees -have for gromng in the swamp compared to other
'spéaesofplants, o SN RUN

{b)  The mangroves trees have roots as shown in the diagram above.
These mots are unable to take in oxjrgen or release carbon dioxide.
Suggest why stuch roots are necessary_lfor such trees to survive in the
muddy ground. : {11
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35

The food chain below shows the food relationships among the planktons,
sponges and nudibranchs.

planktons sponge’ nudibranch

Sponges are found in water that sssjighily further away from the seashore.
Only a few types of organisms feed-6n them as they are nommally poisonous.

Nudibranchs are slug-ike aeatures, without shells, that feed on sponges.

A sponge crab will cut outpiec&cof‘thesponge and attach them on itself. The

pieces of sponges on the crab survive well.

Based on the information provided, answer the following questions:

(@  Suggest why the sponge crab attaches pieces of spange to itself. {1}

{b) Suggest how the pieoe;s_pf sponge that are attached on the crab
benefit from the relationship. {1

Page 34 of 51 2009 P6 Science Prelim



2009 - P6 - SC - SA2 - Raffles Girls’

36

Kerni wanted to compare the hardness of four different materials, A, B, C and
D. She scratched them, one at a time, with rods each made from a different
material; plastics, wood or metal.

She recorded her observations in the table below.

the material.
B presence of scratch marks made by
materiaf i
plastic rod wooden rod metal rod

A 2 v

B ¥ ¥ N

c

D ¥ v

Atick{ + )indicates the presence of a scratch mark made by each rod on

Based on the informalidn above, answer the following questions:

< {a) Amange the materials, A, B, C and D, in order according to their
hardness. Write letters A, B and D only in the boxes provided below.
The letter C has been written for you. - M}

© | |

hardest

(®)  Even though material C is the hardest malerial, explain why it may
NOT be the most suitable material to make part X of the crane. -  {2]
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37

container with some green gas as shown in Diagram 1 below.

Diagram 1 -

heater —

- - - - -

[~

Aastha had a glass container with a heater installed in it. She filled the

~— glass container

"‘\.NR

green gas
| ——

She switctied on the heater and after some time, she saw the green gas

moving in the directions as shown in Diagram 2 below.

Diagram 2

Key :
wamgas %
coo! gas - '

(a)

Based on Ihg information above, what could Aastha infer about air?

fil

Page 36 of 51
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The diagram below shows the fayout of Aastha’s dining room.

T

air-con ditioner

h) Based on part (a) onpage 36, give a reason why an air-conditioner is
usualy placed near the. ceiling and not near the floor. [1}

Page 37 of 51
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38 The diagram below shows the various positions of a metal ball when released
from point A_
B
ground

{a) State the energy changes of the metal ball from points A to C through B.
(1}

‘Page 38 of 51 2009 PG Science Prefim
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(b} Based on the diagram on page 38, which one of the following graphs
best represents the change in potential energy of the metat balf?
LABEL the correct graph with a letter, P, in the appropriate box given
below. {1 i

Energy
F 3
o
~
™
\
.
~
"
£
e
o
o
S
.
o
4
o
S
T
-

e B

h S

S

.
~_
~
-~

<)

* £asition of ball

Explain your choice of the graph in (b) above. - (1]
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39 Huiming aranged 3 objects, A, B and C. in a straight line as shown in the

folfowing set-up.

hole

tight
source >
object A

objectB

@

object C

SC(EGN /

Huiming shone light at objects A, B and C. She saw a shadow cast on the

screen as shown below. -

o

screen

T shadow

(8  Based on the information above, put a tick {~.) in the comrect box for

each of the following statements:

{112}

Statement -

{rue

not

false possible

() | Object A is transparent.

to tell

(i) Objéct B is opaque;

(iii) | Object C is transiucent.
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The diagram below shows the positions of the mirrors, A, B, C, and D, ptaced near f at }
the bend of a 2-way road. '

{b) Which one of -these mivors will enable motorists coming from X and Y to see
each other before they meet at the sharp bend?

(©)  Inthe diagram above, DRAW amrows (——*) to indicate how the reflection of ¢
light allows the motorist at X to see the motorist at Y before they meet.
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40 Two bars, P and Q, of the same diameter, were wrapped tightly with paper of
the same size and thickness as shown below.

Each bar was heated over a flame for the same duration, After some {ime,
the paper on bar P was bumt but NOT the paper on bar Q.

(@  Which of the two materials befow are most likely tobe PandQ?  [1]

fron : Wood

(b)  Explain your answers in part(a) above. {1
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41

Ali had a bimetallic strip, made of two different metals, X and Y, as shown in

the diagram below.

AN

\\\\\\\\\\\\\\\\\\\\\\\' _

strip locked different, as shown in the diagram below:.

(@) _' Explain Ali's observations.

X

He heated it for 10 minutes. After 10 minutes, AR observed that the bimetallic

EEREESs

Y

1]

The table below shows the relative expansion rate of four different materials:

glass, iron, brass and aluminium.

material glass ion__ brass atuminium
relative expansion 3 4 6 8
rate
Note: Scale of expansion
1 » 10
smallest expansion rate . greatest expansion rate

{b) Based on the above infonnati‘on,' suggest a possible combination of
materials X and Y for the bimetallic strip that Ali used.

x.

Y-

Page 43 of 51
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42 Ruiyi set up circuit W as shown in the diagram below.

'“/'IL_

circuit_w

Her friend, Esther, told Her thatshe had a two-way switch that could improve
Ruiyi's set-up such that when one bulb fused, the other bulb could remain it
Esther cofinected the two-way switch to form part of circuit Y as shown in the
diagram below. The two-way switch was made up of three metal contacts, A,
B, and C, fixed on a small piece of wood. A steel paper clip was fixed at A
such that it was able to touch either B or G to close the circuit,

B paper clip
A 8 ’

L

dof

circuit Y

(2)  Inciccuit Y above, DRAW fines to complete the circuit such that when
one bulb fused, the other butb would remain Bit. i1
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(b)  Compare circuits W and Y on page 44. State ANOTHER advantage of
cireuit Y over circuit W. [t}

43 Fidessa used identical batteries and Iight buibs in 2 different electrical set-ups -
to compare the rate of evaporation of water in 2 different contamers Jand K
Edch container was intially filled wlth 800 ml of water.

800 mi
of water

J

After an hour, Fidessa measured the volume of water left in each container
and noticed that the volume of water left in container .J was less than that in

container K.

Based on the information above, answer the following questions:

{a) Give two reasons to explain why the volume of water left in container
J was less than thatin container i A

REASON 1

REASON 2
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44 Mary had a tall beaker containing a mixture of iron filings and similar sizes of
styrofoam baills and sitver bali-bearings.

a nﬁxture of iron filings, styrofoam
balls and sitver ball-bearings

Mary was also given the list of items: a small fish net, a strong U-shaped
magnet and 500 mi of water to separate the mikture in the beaker.

(a) Using ALL the items given above, describe how Mary could separate
the three items in the mixture without pouring out the items or getting
her fingers wet. 2]

Step Procedure
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{&) Explain why Mary used only the ends of the U-shaped magnet to

attract an object {1]
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45 Joe conducted an experiment using 3 parachutes of different diameters, A, 8
and C, as shown in the diagram below.

: ) T
: diameter .
“—— f0cm —¥

diameter

"~ diameter
20cm ———

- om oo
Il ]

!
|
|

CEE R ]
L AN
- o
LB ]

Jﬂ!ﬂn

.——-—.——.——...—-——-—.-——-—.4—-.-.——--—_—-_

T I Y

-

-
-

30 cm

-——-—-u—--—-n—-—-_——-_-_._-'——--—.—-——-—.—-—«-.-...-.-......._.--_._,m.-_—.—-——--

He dropped all 3 parachutes from the same height at the same location. He
measured the time taken for each parachuie fo jand on the ground and
recorded his resulis as shown in the table below. .

time taken to land on average time taken
parachute | number the ground { s . toland on the
of trials 1 ground /s
1 4.7
A 2 5.2 . 5
3 5.1
1 - - 80
B 2 8.2 8
3 7.8 :
1 12.0
C. 2 11.8 12
3 12.2
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Based on the information given on page 48, answer the following questions:

{a) What was the aim of Joe’s experiment? {1}

(b) fn order l;:i conduct a fair test, state - | i
et e oo duct t, one OTHER \;'a__l.a_;lable that il;;e
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45 Fahmy used the set-up as shown in the diagram below to find out how the

mass of the load affects the extension of the spring.

i

9cm

T e T T LT T crie b

ioad
ruler

retort —_ 1}
stands

i
. ]
gt o s Wl L AL L A A IR, B T i e e S et e e e, oy

el B e T T L e ey ey e

wwgadmsienad

before addmg the load - after adding the load

He conducted the experiment using load of a different mass, ONE at a time,
and recorded part of his results in the table below.
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Based on the information on page 50, answer the following questions:

{a} What would the extension of the spring be when a 90 g load was
placed on the weight hanger? 1]

{b} State the relationship between the extens:on of the spnng and the
mass of the load on the weight hanger. 13

{c) SKETCH a line graph to show the relationship between the length of

the spring and the mass of the load on the weight hanger. {1]
F 3
fength of
spring /-
cm
o >
load’g
- END OF PAPER -

Setters: Ms Aishab, Mrs Lee KF, Mdm OngSNand Mr Tan S W
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B RAFFLES GIRLS' PRIMARY SCHOOL

2008 Primary 6 SCIENCE Prefiminary Examination
Sefters:  Alshah Ads_ Kar Fong, Shueh Nee. Siew WWhatt

ANSWER KEY

SECTION A (30 X 2 marks)
Muifiple Choice questions )
1. ] 2 612 11.]3 16.] 1 [21.] 1 2| 2
2 i 2 7.1 3 12§ 3 17.1 2 221 3 27.1 3
3] 4 8. 4 13.1 3 18.1 1 1 23. 1 4 28 { 2
4.1 1 ‘9. 2 14.1 1 19.] 3 24.{ 2 29 | 1
511 10.7 2 15.1 1 20.1 4 25.1 4 30.1 1
___ SECTION B (40 marks) .
No. | Marks Answers - Remarks
31.]a |1 one : ]
b2 : O Im  for comect
T K drawing of wife &
&0 ®0 daughter
(5 é [i ) im  for comrect
- indication of
0o . @0 20 @ genelic
| infermation
ae
OR
~® . ) _ minus {1/2]
20 @0 for any line not
correctly joined
O Or
00 |0 18]
te
32 jait To remove oxygen from the air
bt The plant phot esised in the presence of
sunfight to produce oxvgen {1/2] that the lizard
needs for respiration {1/£2]
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N No. | Marks Answers Remarks
rMZE cit Carbon dioxide that is_given out by the lizard | 10} carbon dioxide
during respiration tumed the limewater | is released by the
chalky.[1} fizard
Partial ans:
- The imewater turned chatky {1/2].
- Carbon dioxide is released by the itz.ard du
o fespication {1/2].
33 2 - Use an equal amount of off {1} [0} i did not
- Use (equal amount of) pond water / tap water in specify the type of
baoth beakers [1] liquid used in
beakers
1 ‘Yo compare and confirm that the difference in the
amount of water lost is due to the different
number of feaves. :
34 1 Less competition for ight/space since the other
species of frees are unable fo survive in such
ground condition. OR -
The mud in the swamp is rich in nutrients.
1 They enable the trees to be firmly rooted 1o the
’ ground. -
35 1 Having sponges on itself helps it 1o blend with the
surrcunding{1/2], heace not easily attacked by
predatar [1/2].
OR
As the sponges on it are toxic [1/2}, having these |
sponges prevented predators of the crab from
attacking it [1/2].
1 The crab protects fthe sponges from the.
nudibranchs. OR .
As the crab canies the sponges with it, the
Sponges can move around to escape from the
audibranchs / move around to feed on the
planktons.
36 Jal1 A,DandB No parfial mark
b2 - The hardest material does not mean that the 1 for concept of
material is the strongest {1] hardest not
- The strength of the materiaf to lift heavy loads is | directly proportion
moxe trnpoitant than its hardness 1) to strength
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Answers

Remarks

recognizing that
its strength is

more important
thari its hardness -
Concept marking

Warn air tises, cold air sinks

It is more energy efficient to place the
air-conditioner near the ceiling as the room would
beooo!eddownfaste:ascompared toifitis

- _-____—"‘--—\-—__‘
Hot air that fiseg
is cooled by the
air-conditioner,

placed nearthe flcor. OR This cool air then

x sinks and keeps
Wanm zir near the fioor rises and is cooled by the | the room cool.
‘air-conditioner. If the air-condiioner is placed
near the ceiling, it can give out cool air that sinks
to keep the entire roorn cold faster as ‘compared
toifitis placed near the floor.

Polenfial— Kinetic—-»

cnegy energy

Potential
energy

3

\'

Al position A, the polential energy of the ball is
the highest as it is at the greatest dtstance away
“from the ground. i1} :

{f) Not possible 1o tell
| {&) True
{4 {iii) Not possible to teli

1172 [1/2] each

b{12 |MnoB

1or(}

mirrar \r

driveway
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rrNo. Marks Answers Remarks
4. ta 1 fron- Q {112} each
Wood - P

b1t (iron) Q was a better conductor of heat than P | Must compare;
~ '} (wood) so heat would be conducted away faster | otherwise [G]
from the paper on Q than on P before the paper '
got bumt.

41. }a {1 » Y expands more than X when heated. OR
« The rate of expansion of Y is greater than
the rate of expansion of X.

b1 . _ Y-must have a
Alt. X - Y value bigger than
{1) |  bass . aluminium X but both

{2y | iron aluminium materials must be
3) fron brass metal thus glass
- is out.

42 ta it tor(}

V04
|

ﬁote: The butbs
are connecied in
parailel.

-y

bit The buibs in circuit Y are brighter than the bulbs
in circuit W,

43 a2 Reason 1 1 each

The greater surface area of water in | Must compare
conftainer J enabled the waler in it to evaporate {
faster {1] than that in container K.

Reason 2
The batteries connected in series in the circuit

above container J provided more heat energy o

enable the water in_container J to evaporate
faster than that in container K .
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No. fdarks | Answers Remari-cs__ﬁ
4 (a2 1. Stide the strong U-shaped magnet along [1/2] for each
the sides of the beaker to attract and | correct idea.
remove all the iron filings.

2. Pour water into the mixture so that the Accept other
styrofoam balls will float relevant answer,
3 Scoop up the floating styrofoam batls with
the fish net. o
4. Pour away the water leaving behind onfy
the sitver ball-bearings.

(Steps need not be in order: steps must be
logical)

-Mark question as a whole, #f there are illogical
.steps.{0]

b1 Magnetism is the strongest at the poles of a
magnel.

45 (a1 To find out if the diameter of the parachute will
affect the time the parachute takes to land on the
ground,

bt Materials used to make the parachutes must be
the same.

46 |a{1 - |18cm -{172] for no units f
WwWIORg unils.

bi{t The greater the mass of the load on the weight
hanger, the greater the extension of the spring.

€3t ' ' Note: If graph
% starts from 0, {0]

ot spriny
fom

foad /g

- END OF PAPER -
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